ERERIBER—E

ISE RAig# (kHz) EEHD (W)

NHKZE1 963

/NI NHKZE2 1512 5k
[E2pi:YeES 1116

Lok NHKZ1 792 100
NHKZE2 1476
NHKZ1 531 500

MR NHKZE2 1035 100
[Eap:36eS 1116 1k
NHKZ1 1368

A= NNKZ2 1035 100
[E2Ri:YeES 1116
NHKZ1 846

FHE NHKZE2 1602 1k
[Eap:36eS 1116
NHKZ1 792

M NHKZE2 1476 100
[EaR:YeES 1116

FH NHKZE1 1584 100

- NHKZ1 1341 100
NHKZE2 1539

fEE [E2NieES 1116 100

BF A NHKZ1 1323 100




iR EFMEXR—E

ISE AiE# (MHz) ‘rEHD (W)
NHK 87.7
/NN — 1k
I 7T LELE 79.7
S8 I7ILEE 80.6 20
PN NHK 87.0
HEE —— 100
I I LEE 89.2
NHK 86.5
J\IE —— 100
I I LEE 17.6
NHK 84.8
FE —— 100
I I LEE 82.1
NHK 85.9
KM —— 30
I I LEE 78.8
[ NHK 83.5 10
B I7TLEE 78.8 30
gl NHK 82.2 3
NHK 84.4
JNZ3T — 10
T 7T LERE 80.0
ESoN) NHK 85.6 10
il NHK 86.8 10
J/INFH NHK 88.7 10
I NHK 85.4 10
=/ NHK 85.5 10
K=5 NHK 83.8 10
il NHK 85.1 10
NHK 83.6
I — 3
I7ILELE 80.2
FRBFMETHHE—%
ISE Ak (MHz) EEHD (W)
/NIl [E2)i:9i 65 91.7 1k
NHK 92.6
ER 100
[E2)i:9i 65 91.7
NI [E2h3i 65 91.2 10
KM [E2h29i6ES 91.7 30
J\IE [Eah3i6eS 91.2 100
NHK 93.6
FHE 100
[E2h3i 8 91.7
= [E2pi=9i6ES 91.7 20
Vil [Eah976eS 91.2 20
fENSE [E3hi3i5 @S 91.7 20
ES2N) FEROE 91.7 20
EfH [E3h3i 6t 91.2 20
R=B [E2h3i 6 91.2 20
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